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Rovo said, he becomes disqualified from now on

Overview

X217 maintains that an 2217 7V becomes disqualified from being able to testify in the
future, from the point of the 7in7 and onwards, however any testimony that he gave
before the fn17, even though it was after the false testimony that he gave, it is valid,
since there was no 7117 as of yet. mMdOIN reconciles this view with a seemingly
contradictory X77a.

nooIN asks:
= IMN (DY) §,XY 97 xNa x33) ©INAN NPIN [Wr929] NN

It is astounding for in [the beginning of] 23027 nPI1 P79, the XN states a case -
— 2PN MW NYINY XN NINNANT Y1ND INN NN IMAN DY 9N NN HPMANX DY 99N I?

This one (721%7) says, this property belonged to my parents [and I possessed it for
the three years of 71111]°, and the other (12v2W) says, ‘this property belonged to my
parents [and I possessed it for the three years of 1p]’; one (j721%7) brought
witnesses that it belonged to his parents and that he possessed it the three years

of 7ot -
- 3090 9Y NYINT Y10 NN SN

And the other one (1v2?) brought witnesses that he possessed it for (the same)

three years of 11211, but did not bring witnesses regarding his parents’ ownership -
= 49NNAN NPINA RYIN SPINY RNTYIN 712 RNJYIN YPIN 19N 29 99N

19 ruled let us set the possession against the possession, so their testimony
regarding possession is cancelled out, and we will establish the land for the one

whose parents had possession of it (the one who also brought X*71 7°NfaRT >770); 12K -
= SN VNN MTY XN NAY NP 9N

X329 said to 1", ‘but it is a testimony which was contradicted’?! This concludes the
citation of that Xn3 -

U'The 127 mix1 amends this to read, X7 P 53w 759K "MIAR YW MIN 71 7RI 91w 579099K N1aX.
2 The same 07V testified to both; it belonged to his parents and he made a 7ipmI.
3 The two sets of witnesses contradicted each other regarding the same three years (see 0"2w there "X 7"'7).
4 We cannot accept the testimony regarding as to who made a 117, since we have conflicting testimony, so we will
ignore the testimony regarding the 7p111, but we will accept the testimony that it belonged to s'J2%7 parents, since no
o7y are contradicting this testimony.
5 72381 witnesses were contradicted by s7wnw witnesses (regarding 1), once they are contradicted, we cannot
believe them (especially in the same case).
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= $509) NIN NANDY NI NI NY NN N2 XD HYNIINN M1 INNIN NHYNY
But now why are they considered contradicted, for X239 maintains here that

witnesses who are contradicted become disqualified from now on (once they were

contradicted, but not from when they testified)
= TYINDNON NY YININN RDT RNNANNY YININNR YINININT NIIINN 17579 9139199 1D 5HON)

So we can say also according to X2 (as 1" argued there); regarding the 711, which
they were contradicted, they are contradicted; but regarding the parents, where

they were not contradicted, they are not contradicted, and should be believed -
= AN2ION 1IN NIV 2DV TN DTV ONIYN MNNT »TN

For it is similar to a case where two people testified that this person stole and

slaughtered an ox; and they were then 21177 regarding the 71152, but not regarding

the 772°13; in such a case -
= 919 992519 $99257 915 TINYT 2) Y 4N DU NIN NANDI INIM 9INT NaAYYY

According to X2 who maintains 221 X177 827791 1822, so even though we maintain

that 7''5n is %7 273, but -
- 55097 NYD ST NPT KOYW NONNNT 1%

Since they become 7125 only from that time when the were 21177 and then it was nx>

7127 >72 of their testimony, so we say
= %99P5 N9INT DN XY DTN NIT NN DINHN ONNNPT NN*AVN

Regarding the 732w for which they were 21477 they are 2137, but regarding the
i12°13 which they were not 21377, they are not 2137, as is evident later —

mooIn qualifies his question:
= VP MMNPIT RO DIVN MHNT NNPYV YAN NN YITN DIVN W97 1ORNYO INNDY

® X211 said this ruling that 7093 X377 X271 J¥2% concerning 72171, but we can assume that it (certainly) applies to w7 as
well. See later in this NN,
7 Even if we assume that sTynw witnesses testified first and said 1792w made a 7pin, and then s721X7 witnesses said
that a) it belonged to s"121%7 parents, and b} 123%7 made a 7P, so when they first testified that it belonged to s721%7
parents there was no 7wni yet, so they should be believed; it is only after they said j21%1 made a 7p1 that they are
contradicted, so from that point on (but not before) they are nwn21 n17v, however concerning their testimony regarding
the parents which was said before any contradiction, they should be believed, according to X27.
8 912°7 *75 70 means within the time it takes to say (*11Y) *27 792y o17w. If the second statement was said within 7"2n
of the first statement, it is considered one statement. Therefore, if we would say 7091 X177 ¥7917 a1 7V, so therefore
since the 7213 M7Y and the 73w M7V was said 7"2n of each other, so if they are o177 on one their whole n7v is 7091
However, X271 maintains 7091 X177 827771 1827, so the 712°13 M7Y was not 7091,
9 RV,
10 The position that 7091 X177 X2771 1831 1"V requires some explanation, for it is evident now that he lied when he testified
(not now), so he should be disqualified from the moment he testified (as *»2X maintains). One explanation is that since
the rule of 1"y is a w17°n that we believe one set of 07V over another, we say 72°K) W71 nvwn XoX 12 T2 PR, the 7109 is
only after the 7.
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And according to the reason why 051 X7 827791 1Xon onr ¥ is because 7'y is a
novelty, it is understood;!' however, according to the reason of concern for the
loss to the buyers,'? the difficulty remains —

Moo responds and rejects an anticipated solution:
= MHNPY 12390 PRY MTY D5 1199392 RN 490N P X1 B3RPIT MINIPY VDT INIY PRT

For it does not appear that he mentions ‘buyers’ specifically; since the X713 did
not say, there is a difference between the two reasons of X217, by any testimony

which does not involve buyers. The question therefore remains (according to the reason of
mmpP7 X7°09), why should we not believe their testimony regarding the parents since they were
wna1 only regarding 1p1, but not XN2aR.

nID0IN answers:
= NN NINN MMTYD 7Y IMN 122 150NN PHNNT INNTT 91990 U

And one can say, according to how the X 13 there differentiates between the

same testimony and another testimony, it will be understood -
- 16:5y 93125713 XY 1N YPIP DTN DY 0O9PUN 1PIMNT 197

11 awnon is no win; we believe neither (we suspect both sets of 27y of being liars), therefore we can say that they
become y191? 709, and since it was said 7"5n the entire testimony is discarded..
12 X217 argues if we were to say 2091 y791Y then all the 79 0w that these 11 0°7v signed after their testimony and
before they were ani will be 2109 (for they are liars), so those who relied on them as 27V to sign the 77" "W, will
have no proof that they bought the field, and they may lose it, if the 721 claims he never sold it to them.
13 Seemingly we can say that when we gave the reason (why 2091 X37171 1897 1"'¥) on account of MMPY7 R7°09, it meant
(not the way it was explained in footnote # 12, but rather) that only in a case where their testimony affects mmp>, do
we say that 2091 X377 82771 1821, however in a case where it does not affect the mmp», like in our case where MWK 7
*Mak 2w, in such a case even X237 agrees that 5001 X177 ¥y7917. This will explain why they are not believed even for the
RNTART MY, since they are ¥1917 2109, and at the time of the testimony the M7y of Xn7aR was 7"2n of the 7PN MY
which was contradicted, therefore the entire N7y is Pv2. However, Mmoo rejects this solution.
14 The X3 on the top of X,3v asks, what is the difference between the two reasons of X317 (whether 171 or X709
mmpoT). If we were to assume MoIN suggestion in the 71871 X7 (see footnote # 13) the X3 should have said the
difference is in a case where NP are not involved (according to the reason of w17°n the rule would remain X3
X272, however according to the reason of mmIP?7 X7°09, the rule would be ¥1917, since there is no X7°09). The fact that
the X113 does not mention this difference proves that the reason of mmp>7 X7°09 applies in all cases (on account of)
M99 RY), and we always maintain 2091 177 827771 1R,
15 The x7na there (2,87 2"2) cites a dispute between X117 21 and 87017 27 as to the status of 2°wn>w 0°7v. 7" maintains
that each set of these 0°7v may testify (elsewhere), while "7 maintains they cannot testify at all. Initially the X723
wanted to say that X271 (who claimed X°7 nwn2m M7y &) agrees with 11"7, while 1"7, who maintains that they are
believed &niaRk follows 77"7. The X713 concluded that X237 generally can agree with 7" that they may testify elsewhere,
however in this case where they are testifying about one issue, so once they were contradicted in part of their testimony,
we cannot accept the rest of their testimony, even on what they were not contradicted.
16 Both testimonies (regarding Xniax and npin) were intended to place the ¥pp in his possession, once we see that
they are (possible) liars regarding the ownership of this ¥7p, we can no longer believe anything they say regarding
the ownership of this ypp. See ‘Thinking it over’.
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That since they were established as (possible) liars regarding this property, they

can no longer be believed regarding this property -
= NYAVN JY DXIPYN IPITMNY 29 JY N NI YAN

However here, even though they were established as lying regarding the 752,

since they were am7, nevertheless -
LAY NIIND 171795 25WN RDT NN DY DY9PYN IPININ KD

They are not assumed to be liars on the robbery, for the robbery and the 7r°20
are not considered as the same testimony.

Summary
Even if we maintain 091 X177 827771 1807, nevertheless, if it is one testimony, all parts

of the testimony are connected and a 709 in one will invalidate the other.

Thinking it over

oo writes'® that since they were o™ pwn P11 (?!) on this ¥p7p, they are no longer
believed to testify on it. Is this the reason why they are not believed to say Xnnax,
because o pwn PTMIA, or 1s it because that since they were wn211 on the XDAAX, we
say nn¥pn aovaw My (on the 7pm) it is 7910 7702 (on the Xnnar) for it is one
testimony regarding this ypap?'°

17 The testimony on 772°33 has no connection to the testimony of An*av; they are two separate acts, with different
consequences, therefore the {1177 on the 711°2v has no effect on the testimony regarding the 7271
18 See footnote # 16.
19 See 7"%a7"72 nwn nbnaa 17y, BTW it appears that a line or two is missing in the first paragraph there (between the
line which begins with 99, and the next line which begins with "7 [at least in my edition]).
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